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public bool IsCube()
{
return (this.length==this.width && this.width==this.height);
}
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public class Box

{
private double length;

private double width;
private double height;

public Box(double length, double width, double height)

{
this.length=length;
this.width=width;
this.height=height;
}
public Box()
{
this.length=1,
this.width=1;
this.height=1,
}
public double GetLength()
{
return this.length ;
}
public double GetWidth()
{
return this.width;
}
public double GetHeight()
{
return this.height ;
}
public void SetLength(double newLength)
{
this.length=newLength ;
}

public void SetWidth(double newWidth)
{
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this.width=newW.idth ;

}
public void SetHeight(double newHeight)
{
this.height= newHeight ;
}
public void SetHeight()
{
this.height= this.length ;
}
public double GetVolume()
{
return this.length*this.width*this.height;
}
public override string ToString()
{
string s="""
s="Box{"+this.length+","+this.width+","+this.height+"}";
returns;
}
public bool IsCube()
{
return (this.length==this.width && this.width==this.height);
}
public bool Equals(Box other)
{
return (this.length==other.length &&
this.width==other.width &&
this.height==other.height);
}

hy

public class BoxTest

{
public static void Main(string[] args)

{

double length,width, height;
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Console.WriteLine("Enter box1 dimensions:");
length=double.Parse(Console.ReadLine());
width=double.Parse(Console.ReadLine());
height=double.Parse(Console.ReadLine());
Box box1=new Box(length,width,height);
Console.WriteLine("Enter box2 dimensions:");
length=double.Parse(Console.ReadLine());
width=double.Parse(Console.ReadLine());
height=double.Parse(Console.ReadLine());
Box box2=new Box(length,width,height);
Console.WriteLine("Enter box3 dimensions:");
length=double.Parse(Console.ReadLine());
width=double.Parse(Console.ReadLine());
height=double.Parse(Console.ReadLine());
Box box3=new Box(length,width,height);

/13.2 730
Box maxWidth=box1,;
if (maxWidth.GetWidth()<box2.GetWidth())
maxWidth=box2;
if (maxWidth.GetWidth()<box3.GetWidth())
maxWidth=box3;
Console.WriteLine(maxWidth.GetLength());
1
if(box1.GetLength()==box2.GetLength() &&
box2.GetLength()==box3.GetLength())
Console.WriteLine("Same length.");
else
Console.WriteLine("Not the same length.");
if(box1.GetHeight()!=box2.GetHeight() &&
box2.GetHeight()!=box3.GetHeight() &&
box3.GetHeight()!=box1.GetHeight())
Console.WriteLine("Height: All different.");
else
Console.WriteLine("Height: Not all different.");
if(box1.1sCube() || box2.1sCube() || box3.IsCube())
Console.WriteLine("At least one cube.™);
else
Console.WriteLine("No cube.");
Console.WriteLine(box1.ToString());
Console.WriteLine(box2.ToString());
Console.WriteLine(box2.ToString());
/[Console.WriteLine(box2); it's ok as well
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Box box4=new Box(4,6,8);
Box box5=new Box(4,6,8);
if(box4.Equals(box5))
Console.WriteLine(""Same dimensions.");
else
Console.WriteLine("Not the same dimensions.");

115 7pvo
box4.SetHeight();
Console.WriteLine(box4.ToString());

116 7pvo
Box box6=new Box();
Console.WriteLine(box6.ToString());

: (V99) NNIN IINT

Enter box1 dimensions:
1

2

3

Enter box2 dimensions:
4

5

6

Enter box3 dimensions:
3

3

3

4.0

Not the same length.
Height: Not all different.
At least one cube.
Box{1.0,2.0,3.0}
Box{4.0,5.0,6.0}
Box{4.0,5.0,6.0}

Same dimensions.
Box{4.0,6.0,4.0}
Box{1.0,1.0,1.0}
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. Box
public Box(Box other)
{
this.length= other.length;
this.width=other.width;
this.height= other.height;
}
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nxnwn ,null 19509 NTINND 91 NN NTING ,N9IND NN ,NPIDN ,NPPNYN NN NOOY

.this ,0omsy
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MLNIRN NMPWNN NN Y311 BoxProject vp»non nx nns 7o owh
:Box nponnd qon .1
(DXXYN/DXWNNMN) MNP 190N NN NNNM ,COUNT (MOLNRVLD) NNPINN NNON -
PONNN MYNNNI ISNY
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public class Box
{
private double length;
private double width;
private double height;
private static int count=0; // 0-» 2rnIx® nIRSDIPT 73

private int id;

(12 MOIYA NV .2

732N NVIWA NNV NONPN NN 7INI, TV JNVE DY NMINDNPN NN HNIY v
APPIVA 70 Y82 ,(MNY MOV ONY) MINDNP N¥Y DT ONY MNOPY NN
YOWAN DY 7997358 49990 WINN TIVN NN 7RV D21 PRV DY Y51 ,901a

.Ta%72 RN IX7 DN wnnwin? [N
NIN'ON NIXA UXIN YR N'7AP K77 MNoN win'y 75 DN NIWY7? IX D'ININN DX D097 [N X7



X"VWUN 0'7'21n 0Nin 01 'oNnwn "y 1IN 1TV "Nnin

NIN'ON NIXA WX MW D727 K77 INW9D MNoN Win'y DN NIYYY? IX DNNINN NIX D097 110K .T272 NKIIN IX? DNiN wnnwn? [N

$PINAN MOIVYN INT T2

_public Box(double length, double width, double height)
{
this.length=length;
this.width=width;
this.height=height;
Box.count++;
this.id=Box.count;
}
public Box()
{
this.length=1;
this.width=1;
this.height=1;
Box.count++;
this.id=Box.count;
}

YN MHININNHDDI MYV .3

(NPINHM SYMNINY MRDNPM 190N NN NPINK L (NPVRVLD) HPNPINND NVOY PO -

.count NNoHNY private NWr XYM NITHINND Y21 NITHND NTINND NIDIND TNNN

{
¥

public static int GetCount()

return Box.count;

DNYN DY NNIN 190N NN NPINNN NIV PO -

public int Getld ()

return this.id;

, 9012 .Static oy nTayn NP0V NN THROND YWHTH 7PN NNV MTIND 2 NN MDD

.12N NVOVYN YD 19IND YNNI MITINNDN 2 P2 INYI WP O»P
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Console.WriteLine(Box.GetCount() + : 13 7y Y131W MNP 19010");

onponn nnnn xn GetCount nminnn (2
TUEPHPONN DNHNND NITHN NN YITNI NYNIN N NN 201N

.5

.BoX npHhnnn mysnxa 1181 DOYMNN 1900 DX NINN NTINHN

NNONY XYY ©OYONIN HDIH NOMYN NNOND NDNMNN NI DWN PTPNPONNID NN TN
LT YOND NOMYN

:(9102) MNIN MZIYIN NXR NPYRIN NTINNDD 90N ()

Console.WriteLine ("box1 id"+box1.Getld() );
Console.WriteLine ("box3 id"+box3.Getld() );

.2 TN MHDNMNNDN MRDNPN DY NNPIN 190N NN ©ITN (T

onponn nmnn n»r Getld nmnnn (0

TUEPRPINN DN NITHN NPN YITN NYNIN NN NN 20N
Y9I RO PDY YAN/RODNPN DY NN 190N AR NIPINND NTINHDN
9955 XY TN’ YINY NIMWN NNDNY NONMNN NONY DWNI "NdPNPINNDD NN NN NTINNDD
. IPONNN PYOIN
Box myBox=new B0x(5,10,15); :1N901 XONP (NMWNIN NTINNDI) DD M AN ()
:RDPN KV MHNIN 99019 NN 1NN NV DWW

: 119 7Y BOX NpONNnn mySNnNG INPY MINDIPN 9901 NN 1NN NV DIV

NOJMP NINN DYS-IN ONN PITAY IWANNDN (NNTINNDI N/NNON) 1IN BoX nphnny qoimn
P NONY

SR MNNVNY PITN TYN TR NP 1IN XOY MINDNPN DOYNND ¥ 1NN
STPRONN YW IMAN RN NN PITAD IWAND 1T PYD

SN DN NNAY IN NNOWNN VI MY DYTHIONN DY NTY 11N

.Ta%72 RN IX7 DN wnnwin? [N
NIN'ON NIXA UXIN YR N'7AP K77 MNoN win'y 75 DN NIWY7? IX D'ININN DX D097 [N X7

.6



X"VWUN 0'7'21n 0Nin 01 'oNnwn "y 1IN 1TV "Nnin
NIN'ON NIXA WX MW D727 K77 INW9D MNoN Win'y DN NIYYY? IX DNNINN NIX D097 110K .T272 NKIIN IX? DNiN wnnwn? [N

Ll

SDIANYIT RYI) TIANN YA VPN OWIP 17V 1991 LYW XW 7 static
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N...0NY

.MNNN NN 02N XY TR (711200 MIAN) 112 DXAND DX PNRYN NI DY

SAPORLD MTINDY -5 7NPNNN NITINDY IWIN VIV *
MY AN INN HNNIN DNINKD AW D RYNN T TNND NI TN 1NN N NP

IPONNT TN D) NPNY NI MORVD NTINDY NP ”MVRVD NNNN”

19IND DDAPNNN DIINYN DY VIVIY TIIYD NN 7TPNPINND NTIND/NNINY AN NIAN TNNY

:N2N
Box
12N 52 1Y MY DIPNA Count=3
.D»ONRLON NPINNHN int GetCount()
length=4 length=3 length=4
width=5 width=10 width=4
height=8 height=3 height=4
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ColoredBox m93)ya8 NO9YP — AW — 71 DN

12907 ,MIND NIV 7DYANY NNNND NN TIODN 1902 6 P9 TIOY INKY ,NYIVA PO D)MINN
.12V NVYDIDININD DTN NIRNND

NYI,9INYID YTIMDY D) DINNN DN I90N, NINT MDY .ANND NINTNNA P NIND XY 1900

.1-5 D92 TNYNI, 0217 DPN DY TANNY

YD NAYY 7900 NINNNT MINNN NN 7PNNDY TIND XININ TN 19IND 20 DOWY ¥,6 P90 NN
MY YNV NYITD MONMNNN 1IN 1) P2ANNA 11,7197 MY DPPY 11, 9INY

LDV MLV NDMT , MLV NDNYN ,TIPA NN VIO, TIND ,IYIT NN POW DNINN

3D XIN NN NIRDNPN NN VXD VDN NINRDNN N2
ML NMPPWNN NN Y311 BoxProject vp»non nx nno
.Box npSnnnn nwayn ColoredBox owa npdnn My .1

YANY 12N, 2N, TN  IPONNHT MNON
N2 NPONNN PYNN DN VHN

public ColoredBox(double length, TR NPV NPNWAR RODIP 12 AWON
double width, double height, string color) yaxy height 72 ,width am=, length
.color

public ColoredBox( string color) TR NOYA NPWAR 702 A2 39N
.color yaxy 1 vox

public bool Equals (ColoredBox other) NP1V 709IPN OR 'NaR' TN AWD:
NDOIIT NPIWART RODPY 7AT NI

P! N ,nanx .other

public override string ToString() PNV RODIPT 2NN DR 77T WO

s MINAN MORYN DY Ny

.7201 T NUNYIN IN DO NTINN N0 Equals nvoown .2
Equals nmnnnmn ndapn NNy 01015792 NNV XNV MO Nonyn NTnn XN Equals
.Box-n nvya nbapnnv

? Equals nTinna »vwea b XA rTipa Inn vindw” Py oNn .3
,base-1 v w mysnna NYNORN NPYNNna WX Equals nTinnn N wnnd xOnimi jnn

.Box ©0an npvnnaw Equals-a 0»pn Tipa winn wnnwnd qwaNnn

public bool Equals(ColoredBox other)
{

return base.Equals(other)&& this.color.Equals(other.color);

¥
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Box box=new Box(3,4,5); (AN ND) RONP NV D NN .4
TN RONPN NITIN 1 1D
ColoredBox cIBbox=new ColoredBox(3,4,5,"'"Red");

STNYAP NN 207 7PNV IN NN NN OX NNN D3 7Y PN NN MTIPON NN 9172

5200 /P2 N0V PN
MY
DIV NXIN IWNIY VNI INNNI 10 | clBbox.Equals(box)
.Box 7y equals nminnn Syain ,Box
DY Yy NHY equals NIYON INND 12 | box.Equals(ciBbox.)

TN NTINHN S¥9n ,BoX ©190n
YNV P NXNWN y¥am Box npbnnn
(MMHaN NXD) MNDNMP

DXYN NV Y99 NN YNIT MY )PDN »nv | cIBbox.Equals((ColoredBox )box)
.ColoredBox -5 Box

1ToString() NVIWa D>WNIN DMIXY TNNY MIIN MNIPY IPR Y .5
(NTNNN P213) DP9 (base) Tipa 1NN vindw ,noIT

.0ther mapNN NONPY NNY NN (NPNIYASN) NONPN DX NNN NPINN NRAN NN .6
JIPY PINN,NINN

public bool Equals(Box other)
{
if(other is ColoredBox)
return this.Equals((ColoredBox)other);//***
return false;
}

.PONNY NADN NOWIN D N 7
s INAN MORYN DY My
920N T NONYIN INX NDIT NTINN N Equals NV -

.Box np5nna nmnnn nndnnd nnt nnmn nny PN NoNT NTINN

: MIRDPN MNT NPT 12 J9IND NN I2071 -

1Y) NV Y99 NINN NI 1D DX, TNV XONP KON Other Dxyn OXRN NPT NTINHDN
JDNYAY NOMP 00790 NYapnn Equals nTinnn nX N (...n9nnn Sy Innd

false 70y mo0yay X9y 1N other bxyn o

.9200 1 NIWNN VIXIY NXIN) NTINHDN ON -

.91 (ColoredBox -2y Box -2) Equals nonymnn nTinmn .nTinmna Jns PN

return this.Equals(other);  nXan N7 *** -2 NIMDHN NNV Y -
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ND T MDPY MMYN OND
92Y17 TN ,DXY P TIT7 DVOW 1T MYSNIND HYI9N DI 1IN 10D XDV : 920N

nYNAN K91 BoX 019705 PHN NON»NN NVIWN ,NVIY JVNI9D Box DI19YVN other pxyN
NN 9O

: DYNIN OMNYN X BoxText npbnny 9o .8

ColoredBox clBox1=new ColoredBox(1,2,3,"Red");
ColoredBox clBox2=new ColoredBox(1,2,3,"Red");
ColoredBox clBox3=new ColoredBox(1,2,3,"Blue™);
Box box=new Box(1,2,3);

: MINAN MWV NN G0N

1) Console.WriteLine (cIBox1.Equals(clBox2));
2) Console.WriteLine (cIBox1.Equals(box));

3) Console.WriteLine (box.Equals(clBox1));

4) Box boxTemp=clBox1,;

5) Console.WriteLine (boxTemp.Equals(clBox3));

DNPON POM V9 DAY, MNNNN DX XIN

: N2D J9IND TIdYY NYALN AN NYD .9

MNTN 720M NYys N equals-n nTNnY NPYNNN DY NN PN

430N Box / 9901
ColoredBox MY
.ColoredBox 01900 omsy — clBox1, clBox2 | ColoredBox 1
.BOoX 019201 D8y — (99149) box Box 2
.BoX 019201 08y — (NLIWN NN YY) box Box 3
5

.ColoredBox 91900 0Ny c1Box3 ColoredBox
equals-n N9e NN IO IWANND DI9NDDINN )N — boxTemp
210N DXYN NXPIN NN DINVY NPINRNNIN
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ColoredBox npvnnn wiarm

public class ColoredBox : Box

{
private string color;
public ColoredBox(double length, double width, double height,
string color)
base( length, width, height);
{

this.color=color;

}

public ColoredBox( string color) : base();

{

this.color=color;

}

public bool Equals(ColoredBox other)

{
Console.WriteLine("Inside ColoredBox with ColoredBox:");
return base.Equals(other)&&

this.color.Equals(other.color);

}

public override string ToString()

{
return base.ToString() + "color:"+this.color;

}

}
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